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= This is an externality problem. ('}i’% )
Suppose that a beckeeper is located next to a 20-acre apple orchard.  Each hive (34 ) of -
‘bees is capable of pollinating 1/4 acre of apple trees, thereby raising the value of apple output
by $25.
a, suppose the market value of the honey from one hive is $30 and that the beekeeper’s
margina! costs are given by .
MC=30+0.5Q
Where Q is the number of hives employed.  In the absence of any bargaining, how
many hives will the beekeeper have and what portion of the apple orchard will be
pollinated?
b. What is the maximum amount per hive the orchard owner would pay as a subsidy to the
beekeeper to prompt him or her to install extra hives? Wil the owner have to pay this
much to prompt the beekeeper to use enough hives to pollinate the entire orchard?

=@ ~ A carrot monopolist can produce at constant average (and marginal) costs of AC=MC=5. ( )/,E';Z)
The firm faces a weekly market demand curve for carrots given by ‘
Q=53-P
¥~ calculate the profit-maximizing price-quantity combination for this monopolist. Also
calculate the monopolist’s profits. '
Z, ~ Suppose that a second firm enters the carrot market. Let qa be the output of firm A
and qp the output of firm B.  On the assumption that firm B has the same costs as firm
A, calculate the profits of firms A and firm B as function of q4 and gz. )
# ~ Suppose {(as in the Cournot model) that each of these two firms chooses its-level of
output so as to maximize profits on the assumption that the other’s output is fixed.
Calculate each firm’s reaction function.
T ~ On the assumption in par ¢, what is the only level for g4 and gg with which both firms
will be satisfied? And what will be the market price of carrots and profit for each
firms?
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« (25%) A research collected GDP deftator and CPI both series to understand the inflation of
the United States. He found that both measures in inflation are quite similar from 1965 to
1995 in most observation, However, CPI is much higher than GDP deflator in two periods,
1973 and 1979-1980. Please give an educated explanation why CPI is higher than GDP
deflator in terms of inflation in the two periods? I the govermmment decides to give retirement
funds to citizens according to CPL, then why such index causes increases in the burden of

govermment outlay?

+ (15%)The US government decides to increase government expenditure significantly along
with floating exchange rate regime.  Appling Mundell-Fleming model to analyze what
happens to the output and interest rate in the US and Mexico.  1s this policy totally

ineffective or with some impact on output?
Y

» (10%)Please define what is the Solow residual, and the relation between Solow residual total
factor productivity.
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